=R Bx fBR
ANT FA II” Bahtt =4 2022-01 kit =
avav, ﬁ it 2
J YV & immoe
E#Fnu ERErR | XH%E bulk order
CAD
20[3D]
e =
= " = 5 SHMEE | BREE o
(1 Jad=3 ESid] BE FE BIREK Bt Bt BE MR
HQ-GHSL - 1
- - | 184 £
4 HQ-GHS2L MR | R 2
HQ-GHSLH _ ) "
SO S mar | mEs 1| kgt | L8t |seHRC~| B
Q-GHS2LH 2
HQ-GHSLP BRE
s RER !
HQ-GHS2LP A 2
REEHIR
BL
.G L1
L2
w C
= D o |
"D D ‘ :] d : ® u?u u [
I
ol $Z =
4|/ Jl TIT
TSRS 35l
[ Ze=s - ®H - ©L - oEmts
HQ-GHSL - H30 - L200
HQ-GHSL - H30 - L500 - z2
s BRRST
ors eH oL Hi N w B c Lo L M2 T G He
HO-GHSL 30 46 12 44 32 50 65.2 914 | M5%6 8 12 6
HO-GHSLH 40 5.5 12.5 48 35 50 786 | 1046 | M6X8 8 12 10
HQ-GHSLP 45| 1 00-4000 8 16 60 40 60 93 1214 | M8x10 | 85 12 95
HQ-GHS2L 55 7.5 18 70 50 72 105.8 138.2 | M8X12 | 10.2 12 16
HQ-GHS2LH 70 9.5 20.5 86 60 80 128.8 | 169.2 |M10X17| 16 12.9 18.5
HQ-GHS2LP
80 13 23.5 100 75 95 155.8 | 204.8 |M12x18| 175 12.9 22
RS BIRS L% E-%.N B8
\.:. MEERE | #HEERE | B A
oS eH Wa Hr D h d P BIE# R CkN) Co(kN) k) | (kg/m)
HO-GHSL 30 20 175 9.5 8.5 6 60 M5X16 2118 35.9 039 | 221
HO-GHSLH 40 23 22 11 9 7 60 M6X20 32.75 49.44 0.69 | 3.21
HQ-GHSLP 45 28 26 14 12 9 80 M8X25 47.27 69.16 116 | 4.47
HQ-GHS2L 55 34 29 14 12 9 80 M8X25 60.21 91.63 192 | 6.30
HQ-GHS2LH 70 45 38 20 17 14 105 M12X35 94.54 136.46 3.61 | 10.41
HQ-GHS2LP
80 53 44 23 20 16 120 M14X45 139.35 196.2 549 | 15.08
ANEREFLIRESEZARER [REFLIRE] P ? 28K “SHMKAER”,
My M e
‘\ 77 A
94kl P SI=%
BT QBN R
EENBRN~RE P
|t 2078 B0 2-8 AR, HREESIL . ol N ﬁlﬁmﬁ "
BRYURIN fl: HQ-GHSL-H30-11000-74 e e e
1000 KEOSH_ LA 5 tHBIR m m o
PRy Ty 30 0.35 0.35 0.35 B3
i S K 2-8 AR, FHRIREDE 40 0.56 057 0.57 B
BIREIEM fil: HQ-GHSL-H30-L1000-ZB4 45 0.88 0.92 0.92 7%
1000 KAISH LA 1 HHBIR, BIh 4 HBREMEE, 55 1.54 1.40 1.40 =3
O ERIEBRS EEELTE 70 263 2.68 2.68 Hh
A BRI AVFRIBIR = RIBN 80 4.88 4.57 4.57
1-20 21~ 1~9 10~
5 IfFH mie 100% BITRN
www.ant-fa.com EZFEMARESERBRE SN 0002




